BID FORM

BID IDENTIFICATION:

Title: Emergency Services Equipment Bid Number: RFB-2020-063

COMPANY:	Municipal Emergency Services
ADDRESS:	66 Firemens Way
CITY, STATE, ZIP:	Poughkeepsie, NY 12603
TEL. NO.:	800-560-8030
FAX NO.:	
FEDERAL TAX ID NO.:	65-1051374
REPRESENTATIVE:	Randy M. Cherubino
E-MAIL:	RCherubino@mesfire.com
SIGNATURE AND TITLE:	Rente Sales Rep
DATE:	05/05/2020
DALD.	

Agency	ITEM	CMC ITEM#	PRICE EACH	QUANTITY	Total Cost
ACSO	PETZL R/HAND ASCENDER	#345023	\$ 71.78	6	\$ 430.68
ACSO	CONTERRA HITCH ANCHOR PLATE	ROCKNRESC UE	\$ 228.27	4	\$ 913.08
ACSO	ANCHUR PLATE	#RHP1			
ACSO		#202122 SMALL		6 (2-SMALL)	
ACSO	ATOM RESCUE HARNESS	#202124 MEDIUM	\$ _{417.37}	(2- MEDIUM)	\$ ^{2504.22}
ACSO		#202125 LARGE		(2-LARGE)	
ACSO	HURLEY PICKET ANCHOR SYSTEM	#303500	\$ 877.80	1	\$ 877.80
ACSO	NOTCH Big Shot Throw Line Launcher Deluxe Kit	#SET1025	\$ _{N/A}	1	\$ _{N/A}

Agency	ITEM	Item #	PRICE EACH	QUANTITY	Total Cost
AFD	Dewalt 60v reciprocating saw w/ charger and 2 batteries	DCS388T2	\$ 462.00	1	\$ 462.00
AFD	Dewalt 60v 16 inch chainsaw w/ battery	DCCS670X1	\$ _{418.00}	1	\$ _{418.00}
AFD	Yates Spec Pak	721903	\$ 1650.00	1	\$ 1650.00
AFD	Paratech air cushion (14 ton) kit. (low.high lift bags)		\$ ^{7931.39}	1	\$ ^{7931.39}
AFD	TU-32 griphoist w/ 30ft. 5/8" wire rope	6XXGO	\$ 3327.33	1	\$ 3327.33
AFD	100 ft, 7/16, 6X19 EIPS wire rope	1.20 ft	\$	2	\$ -
AFD	3/4 inch eye/eye 12' T/U turnbuckle	1031476	\$ +54,	4	\$
AFD	1 inch eye/eye 12' T/U turnbuckle	1301573	\$ Paramerica	2	\$ <
AFD	Crosby wire rope clips (heavy duty) for 7/16 rope	1037693	\$	18	\$ -
AFD	1/2 inch x 250 lbs. torque wrench	426F08	\$ ===	1	\$
AFD	Crosby Thimbles (heavy duty for 7/16 rope)	1037693	\$ —	18	\$
AFD	7/8 inch G-209 screw pin shackles	1018516	\$ -	2	\$ ****
AFD	1 inch G-209 screw pin shackles	1018534	\$	2	\$ ~
AFD	Custom Paratech Raker Rail 6	22-796258C	\$ 576.90	4	\$ 2307.60
AFD	Rake rail splice	22-796469	\$297.73	2	\$ 595.46
AFD	Rake raillatch	22-796250	\$190.40	8	\$1523.20
AFD	Raker junction base	22-796290	\$ 447.70	2	\$ 895.40
AFD	Rail Junction	22-796280	\$ 499.93	2	\$999.86

AFD	Raker Angle Base	22-796475	\$128.80	4	\$515.20
AFD	Longshore Strut	22-796360	\$ 1572.67	4	\$ 6290.68
AFD	Longshore extension 635	22-796376	\$ 822.27	2	\$1644.54
AFD	Longshore extension 435	22-796356	\$ 652.40	4	\$ 1304.80
AFD	Gold extension, model 235	22-796342	\$ 493.00	4	\$ 1972.00
AFD	Longshore adjustable brace B23	22-796348	\$ 676.67	4	\$2706.68
AFD	Longshore adjustable brace B57	22-796350	\$ 828.80	4	\$ 3315.20
AFD	Nailing pad with clamp	22-796310C	\$ 428.40	6	\$2570.40
AFD	Double head steel picket	22-796P14	\$ 35.47	4	\$ 141.88
AFD	Clamp and clevis	22-796330	\$ 494.67	16	\$ 7914.72
AFD	Extension converter 3 in / 7.6 cm	22-796035	\$ 218.	2	\$ 436.
AFD	HFS lonshore screw adapter	22-790019	\$ 254.80	2	\$ 509.60
AFD	Bipod conversion kit	22-796810	\$ 5204.27	1	\$ 5204.27
AFD	Rail 4 latch holder	22-796656	\$ 148.40	2	\$ 296.80

	ITEM	Item #	PRICE EACH	QUANTITY	TOTAL PRICE
Colonie	22-796430		117.60		588.00
	Custom PARATECH	22-796430	\$	5	\$
	Paratech Hammers				
Colonie	22-796006		671.07		2684.28
	Custom PARATECH	22-796006	\$,	4	\$
	Lockstroke Strut 19-25				
Colonie	22-796000			4	
	Custom PARATECH	22-796000	\$ 703.73		\$ 2814.92
	Lockstroke Strut 25-36				
Colonie	22-796017		168.93		337.86
	Custom PARATECH	22-796017	\$	2	\$
	Strut Extension 6				
Colonie	Strut Extension 12	22 706012	\$ 100.00	2	¢ 005 00
	Strut Extension 12	22-796012	\$ 182.93	2	\$ 365.86
Colonie	01-15-1	00 70000			_
	Strut Extension 36	22-796036	\$ 286.53	2	\$ 573.06
Colonie					
	6in SWIVEL BASE	22-796060	\$ 325.00	8	\$2600.00
Colonie	22-887020K		3604.00	_	7208.00
	Custom PARATECH	22-887020K	\$	2	\$
	D/k Cushion 13 Ton (11.9mt)				
Colonie	22-887015K		2535.20		5070.40
	Custom PARATECH	22-887015K	\$	2	\$
	C/k Cushion 7.4 Ton (6.7mt)				
Colonie	22-887350		494.67		898.34
	Custom PARATECH	22-887350	\$	2	\$
	Inline Rel 14.5psi (1 Bar) Red				
Colonie	22-887350		404.67		494.67
	Custom PARATECH	22-887352	494.67 \$	2	\$
	Inline Rel 14.5psi (1 Bar) Red		'		'
Colonie	Maxiforce Air Lifting Bag KPI-1 6in	·			
	x 6in x 3/4in	22-888110G2	\$ 332.80	1	\$ 332.80
Colonie	Maxiforce Air Lifting Bag KPI-3 6in				
	x 12in x 3/4in	22-888120G2	\$ 440.80	1	\$ 440.80
Colonie	Maxiforce Air Lifting Bag KPI-5				
	10in x 10in x 3/4in	22-888130G2	\$ 592.80	1	\$ 592.80
Colonie					
	Kni-12 Lift Pag 15 V 15 Can2	22-888140G2	\$ 772.80	1	\$ 772.80 \$
Colonie	Kpi-12 Lift Bag 15 X 15 Gen2	22-00014002	٦	1	٦
Colonie	Maxiforce Air Lifting Bag KPI-22	22-888160G2	\$ 1031.20	1	\$ 1031.80
Coloria	20in x 20in x 7/8 in			<u> </u>	
Colonie		22 00015005	\$822.40		\$ 822.40
<u> </u>	Kpi-17 Lift Bag 15 X 21 G2	22-888150G2	\$	1	\$
Colonie	Maxiforce Air Lifting Bag KPI-32		\$ ^{1154.40}		. 1154.40
	24in x 24in x7/8	22-888170G2	\$ 1104.40	1	\$ 1154.40
Colonie	22-888190G2				

	Custom PARATECH Kpi-44 Alb 28x28 (711x711mm)	22-888190G2	\$ 1831.20	1	\$ 1831.20
Colonie	Dual Deadman Air Lifting Bag Controller G3	22-890900G3-150	\$ 742.00	2	\$ 1484.00
Colonie	REGULATOR G2 200 PSI CGA	22-895401G2	\$ 644.00	1	\$ 644.00
Colonie	INLINE RELIEF VALVE 165 PSI	22-890490-150	\$ ^{171.73}	2	343.46 \$
Colonie	22-890730 Custom PARATECH Double Male Nipple	22-890730	17.73 \$	2	35.46 \$
Colonie	PAKHAMMER 90 KIT	22-550505	\$5331.00 \$	1	\$5661.00
Colonie	22-550595 Custom PARATECH Ph Bit-20" Spade, 3" Wide	22-550595	203.47 \$	1	203.47 \$
Colonie	Husqvarna K970	K970	\$	1	\$
Colonie	Little Giant 1200 lb wagon truck, perforated deck, 24x36"	LDW2436-6X-10P	\$	1	\$
Colonie	Milwaukee M18 FUEL, 18 Volt lithium framing nailer		\$ —	2	\$ -
Colonie	Milwaukee M18 high output 12.0Ah batteries		\$ -	2	\$
Colonie	Milwaukee M18 6 port battery charger		\$	1	\$
Colonie	Milwaukee M18 FUEL 18 volt lithium ion cordless 7 1/4 inch circular saw		\$	1	\$ ~

Agency	ITEM		PRICE EACH	QUANTITY	Total Cost
Troy FD	Custom Paratech Raker Rail 6	22-796258C	\$579.60	4	\$ 2313.40
Troy FD	Rake rail splice	22-796469	\$ 297.13	2	\$ 595,46
Troy FD	Rake raillatch	22-796250	\$ 190,40	8	\$1523.20
Troy FD	Raker junction base	22-796290	\$ 447.07	2	\$ 894.14
Troy FD	Rail Junction	22-796280	\$ 499, 33	2	\$ 998,66
Troy FD	Raker Angle Base	22-796475	\$ 128.80	4	\$ 515,20
Troy FD	Longshore Strut 610	22-796360	\$ 15 72,67	4	\$62 90,68
Troy FD	Longshore extension 635	22-796376	\$ 822.27	2	\$1644,54
Troy FD	Longshore extension 435	22-796356	\$ 652,40	4	\$ 2699,60
Troy FD	Gold extension, model 235	22-796342	\$ 460,13	4	\$ 18 40,52
Troy FD	Longshore adjustable brace B23	22-796348	\$ 676,67	4	\$2106,68
Troy FD	Longshore adjustable brace B57	22-796350	\$ 313, 80	4	\$ 3315.20
Troy FD	Nailing pad with clamp	22-796310C	\$ 428.40	6	\$2570,40
Troy FD	Hinged base 12 w/ anchor ring	22-796180C	\$ 534.80	4	\$2139,20
Troy FD	Double head steel picket	22-796P14	\$ 35,41	4	\$ 141.88
Troy FD	Clamp and clevis	22-796330	\$ ૫૧૧, દ7	16	\$ 7914.71
Troy FD	hydraFusion strut 10 kit	22-79HA10K	\$ 3647.00	2	\$7294.00
Troy FD	Extension converter 3 in / 7.6 cm	22-796035	\$ 218.00	2	\$ 436.00
Troy FD	HFS lonshore screw adapter	22-790019	\$ 254.80	2	\$ 509.60
Troy FD	Bipod conversion kit	22-796810	\$5204.27	. 1	\$5204.21
Troy FD	Rail 4 latch holder	22-796656	\$ 148.40	2	\$ 196.80
Troy FD	Custom Paratech Grade 100 chain 20ft (6.09m)	22796C1H	\$ 381.67	2	\$165.34
Troy FD	Ratchet bekt 27 " WII 3300 lbs	22-890553	\$ 126.00	3	\$ 37 9.00

Troy FD	Tiedown key w/ J Hook	22-796161	\$43.87	2	\$87.74
Troy FD	TU-32 griphoist w/ 30ft. 5/8" wire rope	6XXGO	332 ^{\$} 1.33	1	\$ 3327,33

COUNTY OF ALBANY

REQUEST FOR BIDS #2020-063 Emergency Services Equipment

REQUEST FOR SUBSTITUTION APPROVAL

Indicate the make and mode County's consideration:	el of thev	vhich you wish to submit for Albany				
We are not requ	We are not requesting or submitting for substitution.					
Attach manufacturer's desc	riptive literature and return	to:				
Albany County Purc 112 State Street, Roo Albany, NY 12207	0					
or fax to: (518) 447-5588						
Deadline for submission of s business (4:30 p.m.).	substitution approval request	s is Friday, May 1, 2020 by close of				
VENDOR:	Municipal Emergency	Service				
REPRESENTATIVE:	R. Cheruhino					
ADDRESS:	61 Firemon Way					
CITY, STATE, ZIP:	Posshleepson, my	12003				
TEL. NO.:	513 428 3174					
FAX NO.:						

ATTACHMENT "A" NON-COLLUSIVE BIDDING CERTIFICATE PURSUANT TO SECTION 103-D OF THE NEW YORK STATE GENERAL MUNICIPAL LAW

- A. By submission of this bid, each bidder and each person signing on behalf of any bidder certifies, and in the case of a joint bid, each party thereto certifies as to its own organizations, under penalty of perjury, that to the best of knowledge and belief:
- (1) The prices in this bid have been arrived at independently without collusion, consultation, communication, or agreement, for the purpose of restricting competition, as to any matter relating to such prices with any other bidder or with any competitor.
- (2) Unless otherwise required by law, the prices which have been quoted in this bid have not knowingly been disclosed by the bidder and will not knowingly be disclosed by the bidder, directly or indirectly, prior to opening, to any bidder or to any competitor.
- (3) No attempt has been made or will be made by the bidder to induce any other person, partnership or corporation to submit or not to submit a bid for the purpose of restricting competition.

A bid shall not be considered for award nor shall any award be made where (1), (2), and (3) above have not been complied with; provided, however, that in any case the bidder cannot make the foregoing certification, the bidder shall so state and shall furnish with the bid a signed statement which sets forth in detail the reasons thereof. Where (1), (2), and (3) above have not been complied with, the bid shall not be considered for any award nor shall any award be made unless the head of the Purchasing Unit to the political subdivision, public department, agency or official thereof to which the bid is made, or his designee, determines that such disclosure was not made for the purpose of restricting competition.

The fact that a bidder (a) has published price lists, rates, or tariffs covering items being procured, (b) has informed prospective customer of proposed or pending publication of new or revised price lists for such items, or (c) has sold the same items to other customers at the same prices being bid, does not constitute, without more, a disclosure within the meaning of paragraph "A" above.

B. Any bid hereafter made to any political subdivision of the state or any public department, agency or official thereof by a corporate bidder for work or services performed or to be performed or goods sold or to be sold, where competitive bidding is required by statute, rule, regulation, local law, and where such bid contains the certification referred to in paragraph "A" of this section, shall be deemed to have been authorized by the Board of Directors of the bidder, and such authorization shall be deemed to include the submission of the bid and the inclusion therein of the certificate as to non-collusion as the act and deed of the corporation

Signature

VP Finance

Municipal Emergency Services, Inc Company Name

May S, 2020

ATTACHMENT "B" ACKNOWLEDGMENT BY BIDDER

If Individual or Individuals: STATE OF SS.: **COUNTY OF** _____day of ______, 200__, before me personally appeared ______ to me known and known to me to be the same person(s) described in and who executed the within instrument, and he (or they severally) acknowledged to me that he (or they) executed the same. Notary Public, State of Qualified in Commission Expires If Corporation: STATE OF COUNTY OF Fairfield on this day of May, 20920 before me personally appeared to me known, who, being by me sworn, did say that he resides at (give that he is the of corporation) the (name Inc. the corporation described in and which executed the above instrument; that he knows the seal of the corporation, and that the seal affixed to the instrument is such corporate seal; that it was so affixed by order of the board of directors of the corporation, and that he signed his name thereto by like order. Ellen Cavanaugh **NOTARY PUBLIC** Ngrary Public, State of Connectice State of Connecticut My Commission Expires May 31, 2021 Commission Expires May If Partnership: STATE OF SS.: COUNTY OF , 200 __, before me personally came___ On the _____day of __ to me known to be the individual who executed the foregoing, and who, being duly sworn, did depose and say that he / she is a partner of the firm of____ / she has the authority to sign the same, and acknowledged that he / she executed the same as the act and deed of said partnership. Notary Public, State of Qualified in _____ Commission Expires

ATTACHMENT "C" ALBANY COUNTY VENDOR RESPONSIBILITY QUESTIONNAIRE

1. VENDOR IS:				
☐ PRIME CONTRACTOR				
2. VENDOR'S LEGAL BUSINESS NAME Muntuipal Emergency Services a) FEIN # 65 - 135 b) DUNS #				
4. D/B/A – Doing Business As (if applicable) & COUNTY FIELD:	5. WEBSITE ADDR	ESS (if app	plicable)	*****
Mes	M m m, t	Es Firi	4. (OM	,
6. ADDRESS OF PRIMARY PLACE OF BUSINESS/EXECUTIVE OFFICE	7. TELEPHONE NUMBER	8	8. FAX NUN	
9. ADDRESS OF PRIMARY PLACE OF BUSINESS/EXECCUTIVE OFFICE IN NEW YORK STATE, if different from above		04	II. FAX NU	MBER
66 Freemens Way Porgh Keepsie Ny 12603	518 928 31	74		
12. AUTHORIZED CONTACT FOR THIE QUESTIONNAIRE Name RAND'S Chembino Title Scles Telephone Number 518 928 3174 Fax Number e-mail Ycherubino @ Mestige. (om 13. LIST ALL OF THE VENDOR'S PRINCIPAL OWNERS.				
a) NAME Andy Hubrigsia TITLE BRUNGA PORTAR 6) 1	IAME	TITLE .		
	IAME	TITLE		
A DETAILED EXPLANATION IS REQUIRED FOR EACH QUESTION ANSWATTACHMENT TO THE COMPLETED QUESTIONNAIRE. YOU MUST PATHE COUNTY IN MAKING A DETERMINATION OF VENDOR RESPONSION THE QUESTION NUMBER.	ROVIDE ADEOUATE DET.	AILS OR I	DOCUMENT	S TO AID
14. DOES THE VENDOR USE, OR HAS IT USED IN THE PAST FIVE (5) NAME, FEIN, or D/B/A OTHER THAN THOSE LISTED IN ITEMS 2-name(s), Federal Employer Identification Number(s) or any D/B/A names numbers were/are in use. Explain the relationship to the vendor.	ABOVE? List all other busi	ness	Yes	No No
15. ARE THERE ANY INDIVIDUALS NOW SERVING IN A MANAGER TO THE VENDOR, INCLUDING PRICIPAL OWNERS AND OFFICEI PAST ONE (1) YEARS HAVE SERVED AS:	AL OR CONSULTING CAI RS, WHO NOW SERVE OR	PACITY IN THE		
 a) An elected or appointed public official or officer? List each individual's name, business title, the name of the organization and dates of service 	appointed	☐ Yes	No No	
b) An officer of any political party organization in Albany County, whe List each individuals name, business title or consulting capacity a with applicable service dates.	ether paid or unpaid? nd the official political posit	ion held	Yes	H No

16.	OR CO OR MO SHAR	IN THE PAST (5) YEARS, HAS THE VENDOR, ANY INDIVIDUALS SERVING IN MANAGERIAL DNSULTING CAPACITY, PRINCIPAL OWNERS, OFFICERS, MAJOR STOCKHOLDER(S) (10% ORE OF THE VOTING SHARES FOR PUBLICLY TRADED COMPANIES, 25% OR MORE OF THE ES FOR ALL OTHER COMPANIES), AFFLITIATE OR ANY PERSON INVOLVED IN THE NG OR CONTRACTING PROCESS:		
	a)	been suspended, debarred or terminated by a local, state or federal authority in connection with a contract or contracting process;	☐ Yes	∏ No
		2. been disqualified for cause as a bidder on any permit, license, concession franchise or lease;		
		3. entered into an agreement to a voluntary exclusion from bidding/contracting;		
		 had a bid rejected on an Albany County contract for failure to comply with the MacBride Fair Employment Principles; 		
		had a low bid rejected on a local, state or federal contract for failure to meet statutory affirmative action or M/WBE requirements on a previously held contract;		
		 had status as a Women's Business Enterprise, Minority Business Enterprise or Disadvantaged Business Enterprise, de-certified, revoked or forfeited; 		
		 been subject to an administrative proceeding or civil action seeking specific performance or restitution in connection with any local, state or federal government contract; 		
		8. been denied an award of a local, state or federal government contract, had a contract suspended or had a contract terminated for non-responsibility; or		
		had a local, state or federal government contract suspended or terminated for cause prior to the completion of the term of the contract.		
	b)	been indicted, convicted, received a judgment against them or a grant of immunity for any business-related conduct constituting a crime under local, state or federal law including but not limited to, fraud extortion, bribery, racketeering, price-fixing, bid collusion or any crime related to truthfulness and/or business conduct?	☐ Yes	⊉ No
	c)	been issued a citation, notice, violation order, or are pending an administrative hearing or proceeding or determination of violations of:	∏ Yes	₩ No
		1. federal, state or local health laws, rules or regulations.		urs.
17.	JUDG AGEN		Yes	No No
	judgm amoun	te if this is applicable to the submitting vendor or affiliate. State whether the situation(s) was a claim, ent, injunction, lien or other with an explanation. Provide the name(s) and address(es) of the agency, the it of the original obligation and outstanding balance. If any of these items are open, unsatisfied, indicate tus of each item as "open" or "unsatisfied."		
18.	DURI	NG THE PAST THREE (3) YEARS, HAS THE VENDOR FAILED TO:		
		file returns or pay any applicable federal, state or city taxes? Identify the taxing jurisdiction, type of tax, liability year(s), and tax liability amount the vendor failed to file/pay and the current status of the liability.	☐ Yes	K No
	b)	file returns or pay New York State unemployment insurance? Indicate the years the vendor failed to file/pay the insurance and the current status of the liability.	☐ Yes	No No
		Property Tax Indicate the years the vendor failed to file.	☐ Yes	No No
19.	ITS A BANK REGA Indica	ANY BANKRUPTCY PROCEEDINGS BEEN INITIATED BY OR AGAINST THE VENDOR OR FFILIATES I WITHIN THE PAST SEVEN (7) YEARS (WHETHER OR NOT CLOSED) OR IS ANY CRUPTCY PROCEEDING PENDING BY OR AGAINST THE VENDOR OR ITS AFFILIATES IRDLESS OR THE DATE OF FILING? the if this is applicable to the submitting vendor or affiliate. If it is an affiliate, include the affiliate's name	Yes	[♣] No
		EIN. Provide the court name, address and docket number. Indicate if the proceedings have been initiated, a pending or have been closed. If closed, provide the date closed.		

.

21.	IN THE PAST FIVE (5) YEARS, HAS THE VENDOR OR ANY AFFILIATES1:	☐ Yes	No
	 a) defaulted or been terminated on, or had its surety called upon to complete, any contract (public or private) awarded; 		-
	Indicate if this is applicable to the submitting vendor or affiliate. Detail the situation(s) that gave rise to the negative action, any corrective action taken by the vendor and the name of the contracting agency.		

1 "Affiliate" meaning: (a) any entity in which the vendor owns more than 50% of the voting stock; (b) any individual, entity or group of principal owners or officers who own more than 50% of the voting stock of the vendor; or (c) any entity whose voting stock is more than 50% owned by the same individual, entity or group described in clause (b). In addition, if a vendor owns less than 50% of the voting stock of another entity, but directs or has the right to direct such entity's daily operations, that entity will be an "affiliate" for purposes of this questionnaire.

ALBANY COUNTY VENDOR RESPONSIBILITY QUESTIONNAIRE

FEIN # 65-105 1374

State of:	CT)	
County of:	Fairfield	_	SS

CERTIFICATION:

The undersigned: recognizes that this questionnaire is submitted for the express purpose of assisting the County of Albany in making a determination regarding an award of contract or approval of a subcontract; acknowledges that the County may in its discretion, by means which it may choose, verify the truth and accuracy of all statements made herein; acknowledges that intentional submission of false or misleading information may constitute a felony under Penal Law Section 210.40 or a misdemeanor under Penal Law Section 210.35 or Section 210.45, and may also be punishable by a fine and/or imprisonment of up to five years under 18 USC Section 1001 and may result in contract termination; and states that the information submitted in this questionnaire and any attached pages is true, accurate and complete.

The undersigned certifies that he/she:

- Has not altered the content of the questions in the questionnaire in any manner;
- Has read and understands all of the items contained in the questionnaire and any pages attached by the submitting vendor;
- Has supplied full and complete responses to each item therein to the best of his/her knowledge, information ad belief;
- Is knowledgeable about the submitting vendor's business and operations;
- Understands that Albany County will rely on the information supplied in the questionnaire when entering into a contract with the vendor;
- Is under duty to notify the Albany County Purchasing Division of any material changes to the vendor's responses.

r	_
Name of Business Emercin in Services, Inc. Address 12 Tumbers Ln, 2 NEC. City, State, Zip Sandyttook, CT 06482	Signature of Owner Mulled Printed Name of Signatory Thomas L. Hubregsen Title President
Syorn before me this 5th day of May, 2020	
Ellen Cavanaugh NOTARY PUBLIC State of Connecticu My Commission Expir	Ward Petric Printed Name It It It It It It It It It I
May 31, 2021	May 5, 2020

Attachment "D" Certification Pursuant to Section 103-g Of the New York State General Municipal Law

- A. By submission of this bid/proposal, each bidder/proposer and each person signing on behalf of any bidder/proposer certifies, and in the case of a joint bid, each party thereto certifies as to its own organization, under penalty of perjury, that to the best of its knowledge and belief that each bidder is not on the list created pursuant to paragraph (b) of subdivision 3 of Section 165-a of the New York State Finance Law.
- B. A Bid/Proposal shall not be considered for award, nor shall any award be made where the condition set forth in Paragraph A above has not been complied with; provided, however, that in any case the bidder/proposer cannot make the foregoing certification set forth in Paragraph A above, the bidder/proposer shall so state and shall furnish with the bid a signed statement which sets forth in detail the reasons therefor. Where Paragraph A above cannot be complied with, the Purchasing Unit to the political subdivision, public department, agency or official thereof to which the bid/proposal is made, or his designee, may award a bid/proposal, on a case by case business under the following circumstances:
 - 1. The investment activities in Iran were made before April 12, 2012, the investment activities in Iran have not been expanded or renewed after April 12, 2012, and the Bidder/Proposer has adopted, publicized and is implementing a formal plan to cease the investment activities in Iran and to refrain from engaging in any new investments in Iran; or
 - 2. The political subdivision makes a determination that the goods or services are necessary for the political subdivision to perform its functions and that, absent such an exemption, the political subdivision would be unable to obtain the goods or services for which the contract is offered. Such determination shall be made in writing and shall be a public document.

____*yy* Signature

VPFinance

Company Name

May 5, 2020